


• Select the combination of letters which when sequentially placed at the blank 

spaces in the given letter series will complete the series.

• वर्णों के उस संयोजन को चनुनए जो दी गई वर्णण श्रंखला में रिक्त स्थानों पि क्रनमक रूप से िखने पि 

उस श्रंखला को परू्णण किेगा।

• bac_cab_cd_a_ac_ca

A.dacbd

B. dcbac

C. cadbc

D.bdabc



• Complete the symmetry.

• समरूपता को परू्णण कीनजए.

• CDE : ZXY : : EDC : ?

A.ZXY

B. ZYX

C. XZY

D.YXZ



• Select the option that is related to the third term in the same way as the second 

term is related to the first term.

• उस नवकल्प का चयन कीनजये जो तीसिे पद से उसी प्रकाि संबंनित ह ैनजस प्रकाि दसूिा पद पहले 

पद से संबंनित ह।ै

• मलेरिया : मच्छि : : प्लेग : ? A.चहूा

B. जीवार्णु

C. चमगादड़

D. नवषार्णु



• Three of the following four words are alike in some way and one is different. 

Identify the odd word.

• ननम्ननलनखत चाि शब्दों में से तीन शब्द नकसी न नकसी प्रकाि से एकसमान हैं औि एक निन्न ह।ै 

निन्न शब्द की पहचान कीनजए।

A.Guru Nanak

B. Bible

C. Quran

D.Ramayana



• Four pairs of words are given, out of which three pairs are alike in some way 

and one is unique. Select the odd pair of words.

• शब्दों के चाि यगु्म नदए गए हैं, नजनमें से तीन यगु्म नकसी न नकसी रूप में समान हैं औि एक बेजोड़

ह।ै बेजोड़ शब्दों के यगु्म का चयन कीनजए।

A.Boxing : Ring

B. Golf : The Course

C. Baseball: Diamond

D.Pool : Swimming



• In a certain code language, 'RACE' is written as 'WFHJ' and 'TRAP' is written 

as 'YWFU'. How will 'FROM' be written in that language?

• एक नननित कोड िाषा में, 'RACE' को 'WFHJ' नलखा जाता ह ैऔि 'TRAP' को 'YWFU' 

नलखा जाता ह।ै उस िाषा में 'FROM' कैसे नलखा जाएगा?

A.LXUS

B. KXTS

C. KWTR

D.LWUR



• In a certain code language, "NOPE" is coded as "100" and "EGG" is coded as 

"38". How will "LAP" be coded in that language?

• एक नननित कूट िाषा में, "NOPE" को "100" के रूप में कूटबद्ध नकया जाता ह ैऔि "EGG" को 

"38" के रूप में कूटबद्ध नकया जाता ह।ै उसी िाषा में "LAP" को नकस प्रकाि कूटबद्ध नकया 

जाएगा?

A.27

B. 31

C. 29

D.58



• Which of the following words will come at the second position when arranged 

alphabetically according to the English dictionary?

• अंगे्रजी शब्दकोश के अनसुाि वर्णाणनकु्रम में व्यवनस्थत किने पि ननम्ननलनखत में से कौन सा शब्द

दसूिे स्थान पि आएगा?

A.Admiral

B. Admit

C. Admire

D.Admission



• Directions From the given alternatives, select the word that can be formed using 

the letters of the given word.

• ननदशे नदए गए नवकल्पों में से वह शब्द चनुनए जो नदए गए शब्द के अक्षिों का प्रयोग किके बनाया

जा सकता ह।ै 

• INTERNATIONAL
A.ANNUAL

B. LAMINATION

C. TERMINATE

D.INTERNAL



• Which two signs need to be interchanged to make the following equation 

correct?

• ननम्ननलनखत समीकिर्ण को सही बनाने के नलए नकन दो नचह्नों को पिस्पि बदलने किने की 

आवश्यकता ह?ै 

• 72 – 12 + 8 x 6 ÷ 22 = 32 A. - औि x

B. - औि +

C. x औि +

D.- औि ÷



• A = 252, B = 32, C = 9, D = 5, E = 92, 

• A ÷ C × D – B + E= ?

A.200

B. 150

C. 210

D.170



• Select the letter group from the given alternatives which can replace the 

question mark (?) in the following series.

• नदए गए नवकल्पों में से उस अक्षि समहू का चयन कीनजए जो ननम्ननलनखत शरंखला में प्रश्न नचन्ह (?) 

को प्रनतस्थानपत कि सकता ह।ै

• DW, HS, LO, PK, ? A.GT

B. TG

C. CX

D.ZA



• Find the next number in the series.

• श्रंखला में अगली संख्या ज्ञात कीनजए।

• 6, 24, 60, 120, 210, ?

A.320

B. 330

C. 343

D.336



• Find the next number in the series.

• श्रंखला में अगली संख्या ज्ञात कीनजए।

• 4, 5, 9, 28, 111, ?

A.554

B. 552

C. 553

D.556



• 20 year old Renu is four times as old as her sister, Kiran. After how many years 

will Renu be twice as old as Kiran?

• 20 वषीय िेन ूकी आय ुअपनी बहन, नकिर्ण से चाि गनुी ह।ै नकतने वषण बाद िेन ूकी आय,ु नकिर्ण से 

दोगनुी हो जाएगी?

A.15

B. 10

C. 5

D.20



• Manish is shifted four places to the right in a row of 21 men. Now he is 12th 

from the left end. What was his position east from the right end of the row?

• 21 परुुषों की एक पंनक्त में मनीष को चाि स्थान दायीं ओि स्थानांतरित नकया जाता ह।ै अब वह बायें

छोि से 12वें स्थान पि ह।ै पंनक्त में दायें छोि से उसका पवूण में स्थान क्या था?

A.10th

B. 12th

C. 14th

D.8th



• P, Q, R, S, T, U and V are sitting in a straight line, all facing the same direction. 

P is third from the left end. V is fourth to the right of U. P sits second to the left 

of Q. R is at one of the ends. S is on the immediate left of U. R is nearest to V. 

Who is on the immediate left of Q?

• P, Q, R, S, T, U औि V एक सीिी पंनक्त में बैठे हैं, सिी समान नदशा के सम्मखु हैं। P बाए ँछोि 

से तीसिे स्थान पि ह।ै V, U के दाएँ से चौथा ह।ै P, Q के बाए ँसे दसूिे स्थान पि ह।ै R नकसी एक 

छोि पि ह।ै S, U के ठीक बाए ँह।ै R, V के ननकटतम ह।ै Q के ठीक बाएँ कौन ह?ै

A.T

B. P

C. R

D.S



• A person walks 5 km towards west from his house. He takes a left turn and 

walks 10 km and again takes a left turn and walks 5 km. In which direction is 

his house?

• एक व्यनक्त अपने घि से 5 नकमी पनिम नदशा की ओि चलता ह।ै वह बाए ँमडु़ता ह ैऔि 10 नकमी 

चलता ह ैतथा निि से बाए ँमडु़ता ह ैऔि 5 नकमी चलता ह।ै उसका घि नकस नदशा में ह?ै

A.East

B. West

C. North

D.South



• Q and P are a married couple. Y is the son of M and brother of Z I P is the 

mother of L. Z is the wife of B. L is the father of Z. How is P related to Y?

• Q औि P नववानहत यगु्म ह ै। Y, M का पतु्र औि Z का िाई है । P, L की माता ह ै। Z, B की पत्नी 

ह ै। L, Z का नपता ह ै। P का Y से क्या संबंि ह?ै

A.Grandma

B. Maternal uncle

C. Grandfather

D.Uncle


